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&l - TYPEl BKEI&E

1. EDEZ

TYPEL-2FiEi@ BT E M (tEN)
— - WEBRAEE
SD5= 0.98
Ip= 1.25
ap= 1|(F4-1 - RIEMBRERERE " BER RN,
Rp= 1.25
Rpa= 1.167
Hx,2FL= 49|m
Hx,3FL= 89(m
Hn= 169(m
Fph1,2FL=0.4Sds*Ip*ap/Rpa*(1+2*hx/hn)*V] 0.663 (W
Fph1,3FL=0.4Sds*Ip*ap/Rpa*(1+2*hx/hn)*V 0.862|W
Fph2=1.6*Sds*Ip*Wp= 1.96 (W
FPh=0.3*Sds*|p*Wp= 0.3675|W
FPh,2FL= 0.663|W
FPh,3FL= 0.862|W
FPh=(FPh,2FL+FPh,3FL)/2= 0.7625|W
FPv= 0442|W
— - 2FEERBETRES T
BEEH= 16.9|m
ESH,2F~3F= 8|m
S EHn= 32m (I8=4m-%0.8m)
EEE= 1|m (EImEBAIE )
H=E 1.9|tf/m?
2= 18|cm
#thEA=V,EQ= 0.261|tf/m
M,EQ=1/8*V,EQ*Hn?= 0.334|tf-m
S=1/6*b*t*= 0.005|m?
R IR I B Fbc= 150|kgf/cm?
W IR B B Fmc= 100 |kgf/cm?
B S EREFa(#)=0.6"Fbc= 90 | kgf/cm?
B RS ALREFa(i)=0.1*Fmc= 10|kgf/cm?
_BEBBEP b= 2.736|tf
EEIMEHPeq= 1.209|(tf
#BENSIP=P,b+Peq= 3.945|tf
fa,(/B)=P b/A+Peq/A+M/S= 83.73173|tf/m?
= 8373173 |kgf/cm?
< Fa(E) |(OK)
fa,($1)=P,b/A-P,eq/A-M/S= -53.33173 [tf/m?
= -5.333173kgf/cm?
< Fa(iy) (0K
BRI EE A 2 BIEEN
AR RS SUS304
MARFy = 2090  |kgf/cm?
HA R~ = #4 @ 36cm
A EEAs= 127  |cm? AR RFEMWT12)
A 8IN= 278\ % (BImENE 1)
B EHABREYFN=04AsFy*N= 2949.222|kgf |
RIS A2F V.eq=(V,EQ 2F*H/2) 521.550 |kgf (OKV.eq<yFn)




TYPEL-3FE B FFoRE DA (HED)

— - MEIEE
SD5= 0.98
Ip= 1.25
ap= 1|(FR4-1 - RTIEMRREURE T B 2 MR A M,
Rp= 1.25
Rpa= 1.167
Hx,3FL= 8.9[m
Hx,4FL= 12.9|m
Hn= 16.9|m
Fphl,3FL=0.45ds*Ip*ap/Rpa*(L+2*hx/hn)*V 0.862{W
Fphl 4FL=0.4Sds*Ip*ap/Rpa*(L+2*hx/hn)*V 1,061 |W
Fph2=1.6*Sds*Ip*Wp= 1.96[W
FPh=0.3*Sds*|p*Wp= 0.3675|W
FPh,3FL= 0.862|W
FPh4FL= 1.061|w
FPh=(FPh,3FL+FPh,4FL)/2= 09615|wW
FPv= 0.575|W
— IFERBHFRESH
migsH= 16.9|m
s H,3F= 4{m
BEEEHn= 3.2[{m (fE=4m-RF0.8m)
BEE= 1{m (BLmERIEH )
TMEE= 1.9{tf/m’
W= 18{cm
MEAH=V,EQ= 0.329tf/m
M,EQ=1/8*V,EQ*Hn?= 0421 |tf-m
S=1/6*p*’= 0.005{m?
TSR R L B Fbe= 150|kgf/cm?
SRR B S A Fme= 100 |kgf/cm?
B E S  EREFa(E)=0.6*Fbc= 90 |kgf/cm?
WIESHFRIREFa()=01*Fmc= 10 |kgf/cm?
—IEEERARIEEP b= 1.368|tf
EEMBNIPeqg= 0.786|tf
#WEHP=Pb+Peq= 2.154tf
fa,(BB) =P b/A+P,eq/A+M/S= 89.91307 |tf/m?

= 8.991307 |kgf/cm?

< Fa(@) [(0K)

fa,(}i1) =P b/A-P eq/A-M/S= 7471307 |tf/m?

= -7.471307 |kgf/cm?

< Fa(i)  [(OK)

B EEMSH 2R EIEES
MERE SUS304
SARFy= 2090 |kgf/em?
MR = #4 @ 36cm
M EEAs= 127 |em? |UHKFRBITR)
M EIN= 278\ % (BR1mEQI B 5547)
BE PR WFN=04AsFy*N= 2949.222 lkgf
@3 H3F Veq=(V.EQ 2F*H/2 )= 657.666 | kgf (OKV.eq < yFn)




TYPEL RAIESERBZER)
RIEZH2F V.eq=(V.EQ 2F*H/2) 521.550|kgf
RIEZN3F Veq=(V,EQ 2F*H/2 )= 657.666 |kgf
RIm5213FL V.eq=2F V,eq+3F V.eq 1179.216|kgf
B SUS304
2R R~ (mm)= M9 @ 16cm 3 HE
(37 EARIRER)
EERHAREPVN 171.8]kgf
(ZEZMEBRET F M2 BRI E, FSIG)
B BEHN= 1875 |8 (RImEBRIEH )
EEASHANREVU= 62.89kgf (OKVU | n)
TYPEL RAIESERSGZOEN)
RN RZ
HRSUS304 Fy= 2090 |kgf/cm?
on,SUS=0.6Fy= 1254 |kgf/cm?
BREARAATU= 62.89 |kgf
iR R~BXL 4cm X 4cm
EWREE t= 04|cm
HELn= 2|em
Mu=Tu*Ln= 125.78 | kgf-cm
S=B*t*/6= 0.11]|cm3
ou=Mu/S= 1179.22 kgf/cm2 {OK o <GN.sus)
TYPE]l #EEESEZUEN)
RIEZH2F V,eq=(V.EQ 2F*H/2) 521.550 |kgf
R Lfc= 280.0|kgf/cm?
AR SUS304
WAFy= 2090  |kgf/cm?
#55 R~F (mm)= #4 @ 36cm
@R TBM/FR)
B HRHATRE PPV k 2136.75|kgf
(ZEHIT-RE-100H - WERRRBERTEE -
BRHILTHE 5758 & fy=2800kgf/cm2 2 HARARE
- MEBERBEERREEIRE k =2090/2800=0.75)
WAz BIN= 278|% (BImERIE 1)
EBEEAZHHREVU= 187.76 | kgf (OKVu <yFv*k)




2. BIIZ

TYPEL-2FiEiE BT RE D (AN)

— - @AEE
ARE B adgm bEE
MEEINEEE P=qGCp
it o= C AT i o0 ), BRI 1 24). C(CE3H B FA)
a= 0.15
Zg(m)= 300|m
zm)iBEESED = 89|m
z(m) AT REE = 89|m
K(z)= 2.774*@z/zg)"(2*a) ;z > 5.0m|:H#2.6
K(z)= 2.774*(5/zg)"(2*a) ;z<5.0m
K(z)= 097
kzt=(1+K1 K2 K3)A2
kzt= 1| P ik 28 Bkzt=10| GEANIIERK2)
|= 1.1|EA%(1.1,1.009)
V10= 325 |1Re2.480
q(2)=0.06*K(z)*kzt*(I*V10) 2= 74.04 |kgf/m2
G= 1.88
Cp= 13|24 - FTRAKRE "WREE0.8+5EMm0.5, )
P =q(2)*G*Cp= 18096 |kgf/m2

= 0.181|tf/m2
— - JFIERRBRTRE ST
HIESH= 169|m
=& H,2F~3F= 8|m
&S S EHn= 32[(m (IBZ4m-Ri%E0.8m)
= 1|m (B 1mEERTE 53 47)
EEE= 19]tf/m?
e = 18{cm
B H=VWL= 0.181[tf/m
MWL=1/8*V,WL*Hn?= 0.232 |[tf-m
S=1/6*b*t’= 0.005|m?
TS IBIR B Fbc= 150|kgf/cm?

W EmRMEREFmc= 100 | kgf/cm?
EEA N EREFa(E)=0.6*Fbc= 90| kgf/cm?

WA F R EFa()=0.1*Fmc= 10 |kgf/cm?
T IB RIS EP b= 2736|tf
MEl HP=P b= 2736|tf
fa,(B&)=P,b/A+M/S= 58.09511 |tf/m?

= 5.809511 | kgf/cm?

< Fa(B) |(OK

fa,(311) =P,b/A-M/S = -27.69511 |tf/m?

= -2.769511 |kgf/cm?

< Fa(fi) |(OK)

EAEERS ZNEED
AR SUS304
HAsFy= 2090  |kgf/cm?
AR~ = #4 @ 16cm
A EfEAS= 127 |cm? AR THEMT)
AT BIN= 6.25|%8 (ERImERIE 5 #7)
st BISRE WFn=0.4AsFy*N= 6635.75 | kgf
{E=H2F VWL=(V,WL 2F*H/2) 361.928 |kgf {OK VWL ':\IJH




TYPEL-3FEE BT REN (A N)

— - BNEE
REEHEL agm b
MEEmEEE P=qGCp
= CACR R 7 o 00 ), B T 7T R6),CCE3H B RS
a= 0.15
Zg(m)= 300[{m
z(mAEEEE D= 129|m
z(m) DR ER = 129|m
K(z)= 2.774%(z/zg)"(2*a) ;z > 5.0m|##E2.6
K(z)= 2.774%(5/2g)~(2*a) ;z<5.0m
K(z)= 1.08
kzt=(1+K1 K2 K3)A2
kzt= 1| PHmE it E S Wkzt=10] GEMH T LIERkK)
I= 14 8(1.1,1.0,0.9)
V10= IRE2 A8
q(2)=0.06*K(2)*kzt*(I*V10)A 2= kgf/m2
G:
Cp= (24 - BTIRERERE TIOR8+ BSEEO0S )
P =q(z)*G*Cp= 28 |kgf/m2

= )2 | tf/m2
— - FEREIAES
WIEEH= 169|m
fEEH,3F= 4|m
& EmEHn= 32(m (#B=4m-25%0.8m)
maE= 1lm (BXImENIE 24)
mRE= 19|tf/m?
1aE= 18|cm
BA=VWL= 0.202|tf/m
MWL=1/8*V,WL*Hn?= 0.259 [tf-m
S=1/6*b*’= 0.005|m?3
TS IR R A Fbc= 150 |kgf/cm? o
W RIR 7 R Fmc= 100|kgf/cm?
WSS i R Fa(/8)=0.6*Fbc= 90 |kgf/cm?
WIEAFF M ABREFa()=0.1*Fmc= 10|kgf/cm?
BRI EP b= 1.368|tf
BEHP=P, b= 1.368|tf
fa,(BE)=P,b/A+M/S= 55.5477 [tf/m?

= 5.55477 |kgf/cm?

< Fa(®) |0

fa,(Hi1)=P,b/A-M/S= -40.3477 |tf/m?

= -4.03477 |kgf/cm?

< Fa(fi) |(©

BREE B 2NN
MEFIRLS SUS304
ARy = 2090  [kgf/cm?
HER~ = #4 @ 36cm
AT EEAs= 127  |cm? (AR FBMT1R)
il A5 S BIN= 278 |8 (BR1mENI & 2 47)
REHEEE YFn=04AsFy*N= 2949.222 |kgf
A= 3F VWL=(V,WL 2F*H/2 )= 404.559 |kgf {OKV.WL< rw




TYPEL RAIESBREEZ(R )

RIEZ12F VWL=(V,WL 2F*H/2 ) '361.928[kgf
RIE H3F VWL=(V,WL 2F*H/2 )= 404.559 {kgf
@5 H3FL VWL=2F VWL+3F VWL 766486 | kgf
IRIRRAE SUS304
BRI (mm)= M9 @ 16cm It
(3 IR IRER)
BEREHHEREYVN 171.8]kgf
(BE AR FM 2 BRIAAE, FSERS)
IR RN= 18.75|% (ERImEBRIE 534T)
B RSN IAEVU= 40.88 |kgf {OKVU <)
TYPEL SRS ERIZ(E )
RARSERZ
EH#SUS304 Fy= 2090 |kgf/cm?
on,SUS=0.6Fy= 1254 |kgf/cm?
BRBANNTu= 40.88 |kgf
EIRRBXL dem|  x 4cm
HIREE t= 04|cm
&L= 2|em
Mu=Tu*Ln= 81.76 |kgf-cm
S=B**/6= 0.11[cm3
ou=Mu/S= 76649 |kgf/cm? [(OK.ou<onsus)
TYPEL MBEESRZEN)
B AN2F VWL=(V WL 2F*H/2) 361.928 |kgf
Btfc= 2800 |kgf/cm?
ARG SUS304
HEGFy= 2090 |kgffem?
MEE I (mm)= #4 @ l6cm
A5 AT 1E)
BEXREANERAE URvt k 1678.5]kgf
(£EHIT-RE-L00ZH - WERHRERALRE  BAFELLAm
BEHILTIE S5 Efy=2800kgf/c2 2 ARIRAE |
- MERERBRERMEITE k =2090/2800=0.75)
WA #IN= 6.25|3% (BRImEBRIE 2 1)
B FSE HRAE VU= 57.91[kgf (OKVu<hFv* k)




2 TYPE2 B/KIEEES

\

1 HEIE%

TYPE2-2F it B aE D (2 N)
— - MEHEHE
SDS: 0.98
Ip= 1.25
ap= 1|(FR4-1 - RPRMERREE TEER Z 8RR,
Rp= 1.25
Rpa= 1167
Hx,2FL= 49|m
Hx,3FL= 89|m
Hn= 169|m
Fph1,2FL=0.4Sds*Ip*ap/Rpa*(1+2*hx/hn)*V 0.663|W
Fph1,3FL=0.4Sds*Ip*ap/Rpa*(1+2*hx/hn)* 0.862|W
Fph2=1.6*Sds*|p*Wp= 196|W
FPh=0.3*Sds*Ip*Wp= 0.3675|W
FPh,2FL= 0.663|W
FPh,3FL= 0.862|W
FPh=(FPh,2FL+FPh,3FL)/2= 0.7625|W
FPv= 0442|W
— - JFERArREN N
BIgsH= 16.9|m
B5H2F~3F= 8/m
83 S EHn= 32|m (#8Z4m-Ri%0.8m)
BEE= 1lm (ImEME ST
e 1.9|tf/m?
EE= 11|cm
= AN=V,EQ= 0.159|tf/m
M,EQ=1/8*V,EQ*Hn?= 0.204|tf-m
S=1/6*b*t’= 0.002|m?
iR R B EFbc= 150|kgf/cm?
W IR BIR A B E Fmc= 100 |kgf/cm?
BB R EFa(f)=0.6*Fbc= 90| kgf/cm?
MR BHFARBREFa(i)=0.1*Fmc= 10|kgf/cm?
IR EP IS EP b= 1.672|tf
EHIMEBAPeq= 0.739]tf 2
#EhHP=P,b+Peq= 2411\t
fa,(B8)=Pb/A+Peq/A+M/S= 123.0675|tf/m?
= 12.30675 |kgf/cm?
< Fa(B) |OK
fa,(81) =P,b/A-P,eq/A-M/S= -92.66749 [tf/m?
= -9.266749 |kgf/cm?
< Fa(n (0K
BAEEH 2 MBIEEN
AR SUS304
HMAFy= 2090  |kgf/cm?
HHR = #4 @ 16cm
AT EEAs= 127 |cm? ASTRMT12)
il 2 BIN= 6.25 |8 (B1mENE D)
REABREYFn=04AsFy*N= 6635.75 |kgf |
RIEZN2F V,eq=(V,EQ 2F*H/2) 318.725 |kgf (OKV :4,(||« UFn)




TYPE2-3FEEREBTRE D H(th=EN)

— - MEAFHE
SDS: 0.98
Ip= 125
ap= 1|(F4-1 - RIEMBRRE T REE ZaR RN,
Rp= 1.25
Rpa= 1167
Hx,3FL= 8.9|m
Hx,4FL= 12.9|m
Hn= 16.9|m
Fph1,3FL=0.4Sds*Ip*ap/Rpa*(1+2*hx/hn)*V 0.862|W
Fph1,4FL=0.4Sds*Ip*ap/Rpa*(1+2*hx/hn)*V| 1061|W
Fph2=1.6*Sds*Ip*Wp= 196|W
FPh=0.3*Sds*Ip*Wp= 0.3675|W
FPh,3FL= 0.862|W
FPh,4FL= 1.061|W
FPh=(FPh,3FL+FPh,4FL)/2= 0.9615|W
FPv= 0575(W
Z - FERArEES M
BiggH= 16.9|m
fEeH3F= 4|m
&%= EHn= 32|m (EB=4m-2%0.8m)
TBEE= Ilm (B ImERIE 7 47)
BEE= 1.9|tf/m3
&= = 11|cm
MBH=VEQ= 0.201|tf/m
M,EQ=1/8*V,EQ*Hn?= 0.257 [tf-m
S=1/6*b*t*= 0.002{m?
T PR 7 R Fbc= 150 kgf/cm?
BB RIR AR E Fmc= 100 | kgf/cm?
B S A EREFa(®)=0.6*Fbc= 90 | kgf/cm?
BB RS AR EFa(h)=0.1*Fmc= 10| kgf/cm?
T IBESMASEP b= 0.836|tf
FEEMESPeq= 0480 |tf
B HP=Pb+Peq= 1316|tf
fa,(B)=P,b/A+P,eq/A+M/S= 139.5148 | tf/m?

= 13.95148 | kgf/cm?

< Fa(®) |(OK

fa, (1) =P b/A-P,eq/A-M/S= -124.3148 |tf/m?

= -12.43148 | kgf/cm?

>

B EE A Z MBIREA

A SUS304

BEFy= 2090

HER~ = #4 @ 36cm

WA EEAs= 127 |cm? (AR FRET2)
A BIN= 278\ % (ElmERIE )
REHR B A PFn=04AsFy*N= 2949.222 |kgf

RIm5 A3F V.eq=(V,EQ 2F*H/2 )= 401.907 | kgf {OKV.eq<wFn}




TYPE2 RIS ERBRZOEESN)

B2 512F V.eq=(V.EQ 2F*H/2) 318.725 |kgf
/552 513F V,eq=(V,EQ 2F*H/2 )= 401907 |kgf
@52 A3FL V,eq=2F V,eq+3F V,eq 720.632 |kgf
I2ARARAE SUS304
242 R~ (mm)= M9 @ 16cm 3 B

(397w ARIR 4%)
BB HARIREYVN 171.8]kgf

(BE ML ER F M2 BRIAIEEE FSHS)
AR EIN= 18758 (AImERIEH )
BEASHNBEVU= 3843 |kgf OK VU <Vn)

|
TYPE2 RS ERBZOEN)
SRAEAEZ
E#HRSUS304 Fy= 2090 |kgf/cm?
on,SUS=0.6Fy= 1254 |kgf/cm?
BREANATU= 3843 |kgf
EMRR~BXL 4cm X 4cm
EWREE t= 0.4|cm
HNELn= 2|lcm
Mu=Tu*Ln= 76.87 |kgf-cm
S=B*t*t/6= 0.11[|cm3
ou=Mu/S= 72063 |kgf/cm?|{OK ou<onsus)
TYPE2 HEEESERZONEN)

BlEZH2F V.eq=(V.EQ 2F*H/2) 318.725 | kgf
EELfCc= 280.0|kgf/cm?
MR SUS304
#AsFy = 2090  |kgf/cm?
#35 R~ (mm)= #4 @ 16cm

(AN REMT 1)
BRI AERE QP k 1678.5]kgf

(£EHIT-RE-1002H - EERRERLBE - BARELLAm

EEHILTHE 38 Efy=2800kgf/cm2 Z BRI E |

- ERE R ERRRRRE T k =2090/2800=0.75)
i sz BIN= 6.25|% (ER1ImEMIE D7)
BEREASZHNBEVU= 51.00 |kgf (OKVu<Wivr k)

|




2. BN

TYPE2-2F B R E 5 4 (8 71)

—~ @AGTHE
AR admh EE
MRMEINEERE P=qGCp
ith = C| AGK AT R Lo ), BRI T 17 2R),C CEIH AR
a= 0.15
Zg(m)= 300|m
Z(myAEERE D = 89|m
Z{(M)D T = 89|m
K@= . 2774%(z/zg)"(2%2) ;z > 5.0m|HHE26
K(z)= 2.774%(5/zg) (2*a) ; z<5.0m
K(z)= 0.97
kzt=(1+K1 K2 K3)A2
kzt= 1[3E i masmk it iz 2 8 Blkzt=1.0{ GEMN T LIETRK?)
I= 11| R%E(1.11.009)
V10= 325|248
a(z)=0.06*K(z)*kzt*(1*V10)» 2= 74.04|kgf/m2
G= 1.88
Cp= 13|24  RYERRIES AE08+A AR5, )
P =q(z)*G*Cp= 180.96|kgf/m2

= 0.181[tf/m2
— - 2FEREIRE ST
EIEEH= 169|m
EEH,2F~3F= 8|m
BB EEHn= 32|m (HEE4m-F%0.8m)
EEE= 1|m (EUMERIE )
TEEE= 1.9|tf/m?
TEE= 11|cm
BH=VWL= 0.181[ti/m
MWL=1/8*V,WL*Hn?= 0.232|tf-m
S=1/6*b*’= 0.002|m?
SRR B Fbe= 150|kgf/cm?
RS BR B Fme= 100 | kgf/cm?
EEA T RERErFa()=06*Fbc= 90| kgf/cm?
IR AR EFa(h) =0.1*Fmc= 10{kgf/cm?
BRI EP b= 1672t
B HP=Pb= 1672|tf
fa, () =P b/A+M/S= 130.0596 | tf/m?

= 13.00596 | kgf/cm?

< Fa(B) (0K

fa, (1) =P b/A-M/S= -99,65965 | tf/m?

= -9.965965 | kgf/cm?

< Fa(l) |(OK)

BANEENS TBEN
SHARIRIE SUS304
HBpFy= 2090  |kgf/em?
MER o = #4 @ 16cm
S EAs= 127  |em? (AN FBIBTR)
5 ST BIN= 6.25|%4 (RImENE ST
B EHABRE YFn=04AsFy*N= 6635.75 | kgf |
52 H2F VWL=(VWL 2F*H/2) 361.928|kgf (OK,\/,WL«:T;;FH)

11



TYPE2-3FFEiE B E N4 (A N)

— - BAAOEE
REMEL agm EEE
MEmEmSEEE P=qGCp
ih35e= ClACK S i 7 o (o 88), Bk i 3 2B). CCF 3 I RA)
a= 0.15
Zg(m)= 300{m
z(m)iBfE B E S = 129(m
z(m)D R = 129(m
K(z)= 2.774%(z/zg)"(2*a) ;z > 5.0m|H#2.6
K(z)= 2.774%(5/zg)M(2*a) ;z<5.0m
K(z)= 1.08
kzt=(1+K1 K2 K3)A2
kzt= 1| EiEsiki e s Bkzt=1.0| G2 L1ERK)
I= 11|54 2(1.1,1.009)
V10= 32.5|1REB2. 46
g(z)=0.06*K(z)*kzt*(1*V10)A 2= 82.77 [ kgf/m2
G= 1.88
Cp= 13|(FR24 - RFERERERE "WEmE0.8+E5EMEO0.5 )
P =q(z)*G*Cp= 202.28kgf/m2

= 0.202[tf/m2
— - 3FERBFRES T
I 5H= 169[m
E=H,3F= 4|m
&% = EHn= 32|m (TB=4m-2%0.8m)
BEE= 1|lm (B 1mEE Q15 5347)
fBEE= 19]|tf/m?
&5 = 11|cm
AAH=V.WL= 0.202|tf/m
MWL=1/8*V,WL*Hn?= 0.259 |tf-m
S=1/6*b*t*= 0.002|m?3
B RIRN R EFbc= 150 | kgf/cm?
W R IR R s8  Fme= 100 | kgf/cm?
SR EREFa(®)=0.6*Fbc= 90| kgf/cm?
WS PRI a(A)=0.1*Fmc= 10| kgf/cm?
_BEEPENEEP b= 0.836|tf
HE#FHP=Pb= 0.836[tf
fa, () =P,b/A+M/S= 135.9889 | tf/m?

= 13.59889 |kgf/cm?

< Fa(®) [(OK

fa,(}1)=P,b/A-M/S= -120.7889 | tf/m?

= -12.07889 | kgf/cm?

> Fa(fin) |[(

EBAEE G 2 NEEEN
AR SUS304
SEAFy= 2090  |kgf/cm?
AR~ = #4 @ 36cm
A ETEAS= 127 |cm? (CRS iR
AR Sz BIN= 278|% (B 1mENIE 7 4T)
BREHABREYFn=04AsFy*N= 2949.222 |kgf
BIESE F13F V.WL=(V,WL 2F*H/2 )= 404559 |kgf (OKVWL< |.,-:~’~:1:»
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TYPE2 REESREIZ(EAN)

{BIiE15 512F VWL=(V WL 2F*H/2 ) 361.928[kgf
RlEEN3F VWLS(VWL 2F*H/2 )= 404559 [kgf
{AE15% A3FL VWL=2F V,WL+3F VWL 766486 kgf
2R SUS304
BRR Y (mm)= M9 @ 16cm 3 |
(3 BIRIRER)
BEREHANBRAEYVN 171.8]kgf
(BEMEBRE M 2R HRE FSES)
WREEN= 187518 (ERLmERIZE 2)
BREASRMEVU= 40.88|kgf (Q:éVU«:q;\l/n)
TYPE2 RS ERBZEAN)
SRABEIRZ
E#RSUS304 Fy= 2090 |kgf/em?
on,SUS=0.6Fy= 1254 |kgf/em?
BRBAMATU= 40,38 |kgf
SRR IBXL 4em|  x 4cm
BWEE t= 0.4|cm
ABiLn= 2|cm
Mu=Tu*Ln= 81.76|kgf-cm
S=B*t*t/6= 0.11[cm3
ou=Mu/S= 76649 kgf/cm? | (OK.ou<onsus)
TYPE2 HEEEEIRZED)
{lE5 12F VWL=(V WL 2F*H/2) 361.928|kgf
Bt o= 280.0 |kgf/cm?
AR SUS304
HaHFy= 2090  |kgffem?
#AE R~ (mm)= #4 @ 16¢cm
AR RBIMTR)
BRI AERE YRtk 1678.5kgf
(BEHIT-RE-100%H - WERRRERLAE - BARELLAcm
BEHILTHERARE=2800kgf/cm2 2 HRE |
- MR R ERRE R TR k =2090/2800=0.75)
AT BIN= 6.25{¥ (BAmERIE S 41)
B M E VU= 57.91{kgf (OK,VuﬂJ)Flv'*' k)
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